Options, Futures and Derivative Securities FIN 451
Time: 80 minutes 20 points

Mock Midterm 2

Questions

Problem 1 (3 pts). A non-dividend paying stock price is currently $120. It is known that at
the end of 8 months it will be either $150 or $90. The risk-free interest rate is :l_(l_‘-‘{o per an-
num with continuous compounding. What is the value of an_i_s:_month European call option
with a strike price of $125? Use the replicating portfolio argument and indicate the number
of shares required to hedge the position. Use a risk-free bond with face value $100 in your
computations.
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Problem 2 (3 pts). A stock price is currently §_5_Q_ Itis known that at the end of 4 months it
will be either $60 or $40. Analysts at a prestigious bank have determined that there is a 70%
that the stock will be $60 in four months. The risk-free interest rate is 8% per annum with
continuous compounding. The stock pays a dividend yield of 4% per year.

a. What is the value of a 4-month European put option with a strike price of $52? Use the
risk-neutral probability method to compute the value of the option.
b. Using put-call parity, determine the price of a European call with the same characteristics.
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Problem 3 (2 pts). The stock of Boulder Corp. trades at $130 per share and pays a dividend
yield of 10% per year with continuous compounding. The stock could trade at $160 or $100
in six mo?u?hs, depending on how the economy evolves. The risk-free rate is currently 5% per
year. A banker just sold to a client an instrument that pays in six months $5,000 if the stock
price goes up and $1,000 otherwise. How many shares of the stock {per instrument sold)
does she need to buy or sell to hedge her exposure?
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Problem 4 (2 pts). A stock that pays a dividend yield of 4% per year costs $200. Financial an-
alysts at all major investment banks agree thereis a Bo-afz-probability that the stock will trade
for $250 next year if the company succeeds in developing a novel Al algorithm. Otherwise,
the stock price could fall to $100. The risk-free rate is 4% per year and is expected to remain
constant. What should be the price of a security tha?f);ys $0 next year if the stock goes up

and $1,000 otherwise?
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Problem 5 (4 pts). The current price of a non-dividend-paying stock is $250. Every three
months, it is expected to increase or decrease by 20%. The risk-free rate is 10% per year.
Compute the price of an American put option with a strike price of $255 and a maturity of six
months written on the stock. In each node, explain why you would exercise the put or not.
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Problem 6 {2 pts). A friend of yours, who is attending a prestigious university, says: “I learned in
class that you should never exercise early an American call option written on a non-dividend paying
asset. On the other hand, an American put option with similar characteristics should be exercised
early if the stock price is low enough” Determine whether the statement is true or false.

Folse . T4 v<2 g M‘SLL s ererase
'H«L Anu-"\ . (.oﬂ Q—‘-“LL) L. L

he vae bhe Awmences f"‘“



Problem 7 (4 pts). Let S be the price of GOOG stock that follows a geometric Brownian mo-
tion such that dS = uSdt + aSdW. Your sales team would like to launch a new product
called PWR that tracks the price of GOOG to the power 1.5. Traders at your bank are excited
but would like to know the dynamics of ¥ = §1°, since they would also like to write options

on PWR. (o(s)"r_ Y [

a. Write down the dynamics of Y, and determine its drift and volatility.
b. If GOOG stock is currently 160, compute the probability that PWR is higher than 2,220 in
six months. In your computations, use u = 0.15 and ¢ = 0.50.
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Options, Futures and Derivative Securities FIN 451
Time: 80 minutes 20 points

Mock Midterm 2

Questions

Problem 1 (3 pts). A non-dividend paying stock price is currently $120. It is known that at
the end of 8 months it will be either $150 or $90. The risk-free interest rate is 10% per an-
num with continuous compounding. What is the value of an 8-month European call option
with a strike price of $125?7 Use the replicating portfolio argument and indicate the number
of shares required to hedge the position. Use a risk-free bond with face value: $1 0_0_ip your

computations.
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Problem 2 (3 pts). A stock price is currently $50. It is known that at the end of 4 months it
will be either $60 or $40. Analysts at a prestigious bank have determined that there is a 70%
that the stock will be $60 in four months. The risk-free interest rate is 8% per annum with
continuous compounding. The stock pays a dividend yield of 4% per year.

a. What is the value of a 4-month European put option with a strike price of $52? Use the
risk-neutral probability method to compute the value of the option.
b. Using put-call parity, determine the price of a European call with the same characteristics.
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Problem 3 (2 pts). The stock of Boulder Corp. trades at $130 per share and pays a dividend
yield of 10% per year with continuous compounding. The stock could trade at $160 or $100
in six months, depending on how the economy evolves. The risk-free rate is currently 5% per
year. A banker just sold to a client an instrument that pays in six months $5,000 if the stock
price goes up and $1,000 otherwise. How many shares of the stock (per instrument sold}
does she need to buy or sell to hedge her exposure?
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Problem 4 (2 pts). A stock that pays a dividend yield of 4% per year costs $200. Financial an-
alysts at all major investment banks agree there is a 60% probability that the stock will trade
for $250 next year if the company succeeds in developing a novel Al algorithm. Otherwise,
the stock price could fall to $100. The risk-free rate is 4% per year and is expected to remain
constant. What should be the price of a security that pays $0 next year if the stock goes up
and $1,000 otherwise?
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Problem 5 (4 pts). The current price of a non-dividend-paying stock is $250. Every three
months, it is expected to increase or decrease by 20%. The risk-free rate is 10% pé—r?é;r.
mute the price of an American put option with a strike price of $255 and a maturity of six
months written on the stock. In each node, explain why you would exercise the put or not.
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Problem 6 (2 pts). A friend of yours, who is attending a prestigious university, says: “I learned in
class that you should never exercise early an American call option written on a non-dividend paying
asset. On the other hand, an American put option with similar characteristics should be exercised
early if the stock price is low enough” Determine whether the statement is true or false.
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Problem 7 (4 pts). Let S be the price of GOOG stock that follows a geometric Brownian mo-
tion such that dS = uSdt + oSdW. Your sales team would like to launch a new product
called PWR that tracks the price of GOQG to the power 1.5. Traders at your bank are excited

but would like to know the dynamics of Y = §5, since they would also like to write options
on PWR.

a. Write down the dynamics of Y, and determine its drift and volatility.

b. If GOOG stock is currently 160, compute the probability that PWR is higher than 2,220 in
six months. In your computations, use g = 0.15 and o = 0.50.
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